REVIEW OF EQUATIONS #1

EXAMPLES:
n+7=9 a—-4=-8 -08=03+t |[-6=7+w -6=x-7
-7=-7 +4=+4 -0.3=-0.3 -7=-7 +7= +7
n =2 a =-4 -11= t -13= w 1=x
Solve each of these. Show your work in the spaces provided.
1. a-4=9 9. 25=x+11 17. —-86=c-0.2
2. a+5=-17 10. —18=a-3 18. n+35=45
3.¢c-8=12 11. —26=x-4 19. 19=-7+y
4. x-1=7 12. 16=r+2 20. 4 +x=-50
5. b+4=13 13. y—-13=-14 21. —4=x-4
6. d+1=12 14. m+5=15 22. w-5=0
7 —1—53 15 +5—8—1 23 7-3—1
. X=7 =57 Y =87 . N-7=37
8. b-7=-7 16. 12=p+1.8 24. x+8=8




EQUATION PRACTICE #2

EXAMPLES:
X 1 3x
7—8 3X—'|5 T—12
X 1 4 _3x _ 412
40— =448 3e 3X—3"|5 S.T_ 3' 1
x =32 X =45 x=16
Solve each of these. Show your work in the spaces provided.
X w t
1 €—10 2. F—13 3. 5—16
c 1 a 4 X 6
_ = — _= — 6 —_ =
4 5 =7 > 577 5 25
7 2 =6 8 2 =2 9 —1d-5
3C = : 5 X = . gd=
10 —1b-8 11 2 =20 12 2 =13
. b= . W= L Zw=
2X 4x _ 8x _
13 ?—6 14. ?—7 15. 5 =16




EQUATION PRACTICE #3

NAME

SOLVE EACH OF THE FOLLOWING EQUATIONS.

1. x—=5=-9 2. c+7=-2 3. a+4=7
4 1_ 1 5 L2 6. 2op_ L
- CT 3T - At 9T 73 - 5P
7. B5=x-12 8. —4=-13+d 9. 22=k+12
10, 4=h_2 11, 2ope2 12 8,4
377 - 77T T g TYTO
13, ~4p=—+ 14, Lot 15, 4=c_
- pTPT g - 97775 - 4=y
16. x+6.7=8 17. 58+d=-24 18. 7.9=x— 3.1
2 3x _ _ 2¢c
19. €X=6 20. ?—15 21. 14 = 7
1 23. k—-79=-623 6x 1
22. 18=x- 24, = =




EQUATION PRACTICE #4

NAME

EXAMPLES:
3x-5=-2 2X _ -54=-6.7-x
+5=+5 3 t7=9 +67=+67
3x = 3 -71=-7 1.3= - X
3x = 3 2x =92 13==x
3 3 3 -1 -1
x=1 i.ﬂzi.z -1.3=x
2 3 2
x=3
SOLVE EACH OF THESE:
1. 4x+4=-4 2. 0.08=7x-0.13 3. 5-2x=15
5x 6a 4x
4. 7+10—25 5 4—7—8 6 ?+4—3
7. —6x+0.2=0.8 8 —-3x-4=- 9. —-25=100-50x
X 3 2 4
10 7—14 11 %—X—g 12. a——17—5x
13. 12-6¢=0 14. 13 =5t+13 15. —14 =14 - 8x




EQUATION PRACTICE #5
EXAMPLES:

NAME

3x+5x=-16

8x=-16

8 = =16
8 8
X=-2

7X—4x+5=9
3x+5=9

TxX+8=3x+2
—-3x  =-3x
4x + 8 = 2
—8= -8
4x = -6
4x _ -6
4 4
__ 3 il
X=- 2or—12

SOLVE EACH OF THESE:

1. 5x + 2x =21 2. 22w -9w=30+9 3.10c+c-5=50
4. 3x=8+x 5 7y-9=2y 6. t+27 =6t
7. 3b=5b-6 8. 12+ 3k =9k 9. 12x—-3=4-2x

10. 4d+0=2d +8

11. x+13=3x+5

12. 5d+10=8d -5




EQUATION PRACTICE #6
EXAMPLES:

NAME

2(x+3)=5 2(k—-3)=k—-1 2(m+3)+5m=40+38
2x+6=5 2k-6=k—-1 2m +6 +5m =48
-6=-6 +6=+6 m+6=48
2x =1 2k =k+5 —6= -
2x = -1 —k  =- fm_ =42
2 2 k = 5 Im _ 42
1 7 7
=_E m=06

SOLVE EACH OF THESE:

1. 3(x+2)=2x+10

2. 3(h—1)=2h+3

3. 5(b+2)=—4b+8

4. 5(c+2)=2(c—3)

5. 3x—(x+2)=4

6. 8(2x—1)=—28

7. 3h—2h+8)=7

8. 33=7(w—23)+2w

9. 2(a—16)=—238

2
10. S(9v+3)=0

I\JI_\

3
11. 8(16n—4)——

1
12, Z(2x=1)=5




Answers

Equation Sheet #1

1) a=13
2) a=-22
3) c=20
4) x=8
5) b=9
6) d=11
7) X=6
8) b=0

Equation Sheet #2

1) x =50
4) c=g
7) c=18
10) b=32
13) x=9

Equation Sheet #3

1) X=—-4

1

4) c=g
7) x=17
15

3

13) pP=g
16) x=1.3
19) x=15
1
22) x—’I83
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X=-22
r=14
y=_
m =10
y=3y4
p=10.2
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Equation Sheet #4

1) x=-2
4)  x=21
7)  x=-0.1
10) x=98
13) c=2

Equation Sheet #5

1) x=3
4) x=4
7) b=3
10) d=4

Equation Sheet #6

1) X=4
16

4) c=-—

7) h =23

10) v=-
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